ALPOLIC and ALPOLIC/FR (FIRE RESISTIVE)
COMPOSITE WALL PANEL SYSTEMS

LARGE AND SMALL MISSILE IMPACT

GENERAL NOTES
3. THESE ALPOLIC and ALPOLIC/FR COMPOSITE WALL PANEL SYSTEMS ARE TESTED

;glélsTEsAkszoE I:\SFE é\ggéllg/@:gET%\I\{'LPSOV?/:-T&SP?EEESLJ ﬁ{HE"\\ALESTESUF%ERDF)Fg;mﬁ\EL;ﬁSEEE%C\/TE'ON IN ACCORDANCE WITH THE FOLLOWING PROTOCOLS PER THE CURRENT EDITION OF THE FLORIDA BUILDING CODE:
’ TAS-201-94, IMPACT TEST, LARGE MISSILE

PRESSURES ARE WITHIN THEN VALUES STATED IN NOTE 2 OF THIS DRAWING. EACH ACTUAL WALL TAS-202-94. UNIFORM STATIC AIR PRESSURE TEST

PROJECT SHALL BE CONSTRUCTED USING THE DETAILS SHOWN ON THESE DRAWINGS AS MINIMUM
REQUIRED SPECIFICATIONS TAS-203-94, CYCLIC WIND PRESSURE TEST "
2. THE WALL DESIGN ALLOWABLE PRESSURES FOR THESE WALL PANEL SYSTEMS ARE + 70 PSF/-90 PSF. AND THEY SHALL BE INSTALLED ON FRONT OF A 5/8" (5 PLY) PLYWOOD SUBSTRATE

SUPPORTED BY STUDS AT 16" O.C. AS SHOWN IN THESE APPROVED DRAWINGS.

MATERIAL SPECIFICATIONS:

ALUMINUM EXTRUSIONS FRAMING & ACCESSORIES
1. MATERIAL: M2, F2, A2, HS, and HR ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By Kistler McDougall. 1. STEEL STUDS AND TRACKS: 16 GA. MIN. GALVANIZED STEEL WITH MIN. PROPERTIES OF 50 KSI YIELD, 65 KSI ULTIMATE.
2. MATERIAL: 37893 (CAY-1009) TEE, 37894 (CAY-1010) FEMALE, 37899 (CAY-1011) MALE, 385008 (CAY-1012) STIFFENER 2. ggg g ¥§ﬁg§ Eﬁggmggg zlg X Hg :g mg:gg :Eﬁg ?EégYSEHETgTTg\I((ISTé\’I LE;'S]LODRE;S( Es‘\égé’\‘;vBU'LDEX SCREWOR
AND 38499A (CAY-1013) RETAINER ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By SAF Metal Fabication ) ex ) '
(FORMALLY CAY ARCHITECTURAL PRODUCTS). 3. PLYWOOD: 5/8" THICK, (5 PLY) EXTERIOR GRADE SECURED WITH #8 x 1 5/8" ITW BUILDEX TEK SCREWS
AT 16" 0.C. AROUND PERIMETER AND IN THE MIDDLE OF PLYWOOD.
3. FINISH: MILL FINISH 4. PANEL FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS SPACED AT 16" O.C.
5. STIFFENER FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS.
COMPOSITE PANEL 6.  JOINT SILICONE: DOW CORNING #795 SILICONE SEALANT.
7. STRUCTURAL SILICONE: DOW CORNING #1199 SILICONE SEALANT.
1. ALPOLIC AND ALPOLIC/FR ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157") AND 6MM THICK (0.236" ;
AS MANUFACTURED BY MITSUBISHI PLASTICS COMPOISTES AMERICA, INC., CHESAPEAKE, VA (023" 8. BACKERROD: 3/4" DIA. DENVER FOAM OPEN CELL BACKER ROD.
2. CORE: THERMOPLASTIC MATERIAL WHICH IN COMPOSITE ASSEMBLY MEETS 9. THE STRUCTURAL ADEQUACY OF THE 16 GA. GALVANIZED STEEL STUDS AND THE REST OF THE STRUCTURAL
PERFORMANCE CHARACTERISTICS SPECIFIED. FRAMING SUPPORTING THE METAL PANELS IS NOT PART OF THIS PRODUCT APPROVAL DOCUMENT
3. FACE SHEET: 0.020" ALUMINUM 3105-H14 ALLOY AND IT SHALL BE REVIEWED BY THE PLANS EXAMINER OF THE CORRESPONDING BUILDING DEPARTMENT.
4. FINISH: FLUROPOLYMER RESIN COATING.
5. MAXIMUM DIMENSIONS: 62" WIDE X 288" LONG Digitally
6.  TECHNICAL DATA signed by
DESCRIPTION TEST AMMALPOLICRESULTS ~ 4MMALPOLICATRESULTS ~ 6MM ALPOLIC \\\\ A?M% Robert J
SPECIFIC GRAVITY 1.38 1.90 1.23 sSSPVt
WEIGHT 112 LB/SQ.FT 156 LB/SQ.FT 150 LB/SQ.FT £17 e 552 AMOruso
TENSILE STRENGTH ASTM E-8 7452 PS| 5693 PS| 5399 PS| i \M
\E”LEOL,QGS;\TTF%NGTH ﬁgm Eg '1\'6[2,)( go/DY '1\@( Ton o e o R 7% Date: PTC PRODUCT DESIGN GROUP, LLC
. b o 0 2 O RARGNS 1
PUNCHING SHEAR RESISTANCE (1"DIA.) ASTM D-732 4025 PS| 4637 PS| 2816 PS| %,,,grm—f(\\fg‘ 2023.07.11 A S | \:1/000, FLORIDA 32752
PUNCHING SHEAR MAX LOAD ASTM D-732 1920 PSI 2259 PS| 2121 LBS &N
BOND INTEGRITY VERTICAL PULL ASTM C-297 1806 PSI 427 PSI 1664 PSI 08:51:21 B, nfo@pte-com.com
DRUM PEEL ASTM D-1781-76  33.6 IN-LB/IN 27.6 IN-LB/IN 33.6 IN-LB/IN _
FLATWISE SHEAR ASTM C-273 1225 PSI 949 PSI 1195 PSI -04'00' DINENSIONS ARE N INCHES CONTRACTHO MITSUBISHI CHEMICAL AMERICA
RATE OF BURNING ASTM D-635 CC1 e ALPOLIC DIVISION
Leeoiin.,  dmen o : ;
SELF IGNITION TEMPERATURE ASTM D-1929 752°F 837°F 752°F RIS AR i e e N & GUMALPOLC | ALPOLIC and ALPOLIG/r
FLASH IGNITION TEMPERATURE ASTM D-1929 716°F 811°F 716°F 7 IR A 4714717 | e GIAGE, T HETSUTSAT CRERICAL & 4MM ALPOLIC/fr ENGINEERIG 1111102 COMPOSITE WALL PANEL SYSTEMS
SURFACE FLAMMABILITY ASTM E-108-88  PASSED PASSED PASSED 6 R JA#/24 18w T sevoe s v
SOUND TRANSMISSION ASTM E-413 STC-26 - STC-26 5 [R A e/t0/telmmemmire | B MPCAOQ01 ;
Rg/ E—I l/gfr/;a m S DONOT SCALE DRAWING FropueTon SCALE SHOWN [sweer 1 OF 11




15'-0 1/2"

FRAME OUTSIDE DIMENSION
, 14-9 1/2"
11/2 - / 11/2"
FRAME INSIDE DIMENSION ]
12/
/2" PANEL DIMENSION (| 1/ PANEL DIMENSION /2
~
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 4
I I I I [ I [ [ I [ I I 1 I
| |1 |1 \: (| |1 |1 (| |1 |1 |1 |1 |1 |
| |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |
: L | i i i i i i i I
e | | | STIFFENER— || N N || N I N N I !
> | |1 /I | | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
| |1 |1 | (| |1 |1 (| |1 |1 |1 |1 |1 |
—-t—---++--+7r—-—-—+t--——-—---+t+r---————f----—tt+--—--r-———-—--+--—t+-—-——--——++ - - =~ —t+- - —h
1 S R £ £t ERC e S Rt R 1
% S R | |1 |1 | |1 |1 a |1 |1 |1 |1 |1 |1 |1 |
> =. | 5% I B N 1 4/ 11 N I I I I | | |
= o ¥ 5. | | I STIFFENER |1 | (| |1 |1 (| |1 |1 |1 |1 |1 |
Y |2 = - | N /II | || | N || | | | | | |
A=) o~ o | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
Sl |2 — I - 1 | [ [y A I Y PP I N
o e = ! it - w0 - 4 - 4oL - - - 4+ - - __ ‘- ___ 1| __ 1]
Tlo KW = | I I | I I I I I Il I I I |
°|3 *|g o el R | | | | | 1.
= =
s e o7 - e I | i i i i D
= N | — |
E oy > @ | |1 | S | |1 |1 |1 |1 |1 |1 |1 |1 |1 | @
o | I I | I I I I I I I I I Il | OPPOSITE
| | | | | | | | | | | | | | | | | | | | | | | | |
E ] S i i i i i i i T
Jek |l T T < > | N L
Y| 24 | || I I || || I || | || || N |
— o= | | |1 | (| |1 |1 (| |1 |1 |1 |1 |1 |
o | |1 |1 | (| |1 |1 (| |1 |1 |1 |1 |1 |
‘ | | :\ |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
L L L - ! . - - . - 1 - - - !
\ /
s \ f 1 .. .
& S 26 ~ 16 GA METAL STUDS @ OPPOSITE S RMES Digitally signed
— C. QL tezenee A0,
A : :f/ by RObertJ PTC PRODUCT DESIGN GROUP, LLC
5 Amoruso PO BOX 520775
LONGWOOD, FLORIDA 32752
Date: YV ot £ = FBPE C.A. NO. 25035
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING ' e s
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED Tiseoniels 2023.07.11 ' '
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. i 08:51:41 -04'00" Kistler McDougall
%gﬁ%é’ggj%gﬁﬁ@ﬁE?'ED CONTRACTRG: MITSUBISHI CHEMICAL AMERICA
I FRACTIONS I;)ECIMALS ANGLES ALPOLIC DIVISION
PAN EL ELEVAT ON Robert J. Amoruso, P.E. ez Xx LAt APPROVALS DATE
W 41 AN FLP.E. No. 49752 L T—— ALPOLIC and ALPOLIC/fr
—_ WARE CHANCE YO MITSUBTSAT cremreas amerreal - 4MM & 6MM ALPOLI
3/4" =10 Z Eég fg:igf: e e & MM ALPOLCI FGREERG [ 1 COMPOSITE WALL PANEL SYSTEMS
4/24/14 | UPDATE TD CURRENT EDITIN OF THE FBC
5 ?JA 6/10/12 [rvr— PROJ MGMT SEE CAGE CODE DWG NO. MPCAGO0T RBEV
Rgv 'L'IV'I VDO:T/EH ;T«ss“m DONOT SCALE DRAWING rroseen SCALE SHOWN [sieer 2 OF 11




150 1/2"

WOOD BUCK FRAME

CONNECT WOOD BUCK FRAME TOGETHER
WITH (3) 5/16” DIA. LAG BOLTS
EACH CORNER (TYP.
(P.) 11/2" 14'-9 1/2” METAL STUD FRAME DIMENSION 11/2"
=Q 6" 16 GA. GALV. METAL TRACK ADD A STUD AT 2 x 10 WOOD BUCK FRAME
— : TYPICAL TOP & BOTTOM PANEL JOINT LOCATION / AROUND OUTSIDE PERIMETER
X
A I
I
I
I
z I
S
W % I
= =
= = 8 |
- =) ~| o |
S g -8 |
= = = |
a [ ™| o I
Q o
= = |
w
. = EDGE OF |
< L PLYWOOD |
= I
Wl & SIS | A | | 1 Y| I ] ] | I _
0 I
e N § |
= I
HE |
I
, |
i
15/8" W
9 1/2" 11_411 11_431 11_411 11_411 11_411 11_431 11_411 11_431 11_411 11_431 8)1
| | | | | | | | | | |
CENTERLINE DIM.
27 3/ : : Digitall (TYP.
S Ih;l_%f oo Igitally THE WOOD BUCK FRAME DETAILED IN THIS DRAWING IS FOR TEST PURPOSES
50 KSI YIELD (TYP) - S|gned by ONLY AND IS NOT INTENDED AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.
. — — SR ., Robert )
§ § : ’\M ’ Amoruso PTCPRODUCTDESIGNGROLP LLC
_ _ o : A= AERRWESESS | oNGWOOD, FLORIDA 32752
%?%4 P Sgs Date: Y ol 4 = e CANO 25008
6 1/4” 'J'&A‘S‘::'('sr.‘).ﬁ.\.g‘ta\%‘f Phone:321.69@.1788,Fax:321.690.1789
o e 2023.07.11 Emait ino@plocorpcom
I 08:51:56 Kistler McDougall
STEEL TRACK -04'00"' DIVENSIONS ARE I INGHES, CONTRACTRO. MITSUBISHI CHEMICAL AMERICA
TOLERANCES ARE:
R b J A P E FRACTIONS DECIMALS ANGLES ALPOLIC DIVISION
» obert J. Amoruso, P.E. R iix: :gés £ APPROVAL! DATE
15/8 STUD FRAIVIING EI_EVATION FLP.E. No. 49752 e - ALPOLIC and ALPOLIC/fr
8 RIA [ o/ [
3/ = 1'=0” Z; f‘ﬁ %Eﬁ% EE b FINI;&H4I/|MALPouc:/fr ERGNEENG o P COMPOSITE WALL PANEL SYSTEMS
MEI-AI_ STUD 5 ?:A 8/10/12 [P ——— PROJ MGMT SEE CAGE CODE DWG NO. MPCAGO1 R8EV
R:v sv-I I/S:T/EIZ ':I:;"G:‘“"m""-'m DO NOT SCALE DRAWING OETN SCALE SHOWN [sieer 3 OF 11




#12 X 1 1/2” HWH WOOD SCREW
@16” 0.C. TO MAIN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

ATTACH EACH STUD TO TRACK

W/ #12 x 1 1/2” HWH
ITW BUILDEX TEK SCREWS

TWO (2) EA. SIDE

) = i \
' =t ' 2l = = ettt |
/ T #12 x 1 1/2” HWH TEK SCREW

16” 0.C. TYPICAL EACH PANEL

p— 1"
#10 X 1” HWH TEK SCREW/

4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

HS EXTRUDED ALUMINUM
PANEL STIFFENER K

DOW—CORNING #1199 /

SILICONE SEALANT

HR EXTRUDED ALUMINUM/

PANEL STIFFENER

N

MIN.

2 1/4"

ANERAN

l——6” X 16 GA. =

AN

_—
—

NN

— 2" —————

ls— 2 1/4” MIN. —

[T PLASTIC SHIM SPACE

ls—— 6” X 16 GA.

16” 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

A2 ALUMINUM
EXTRUSION

GALV. STEEL STUD

16" 0.C.
71"\ DETAIL
\4__) SCALE: 6” = 1’

5/8” — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ #8” x 1 5/8” BUILDEX

SCREWS @ 16” 0.C.

#12 x 1 1/2” HWH TEK SPACE
16” 0.C. (FASTEN TO STUDS)

(AS REQUIRED)

GALV. STEEL STUD

16” 0.C.
/"2°\ STIFFENER

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

W SCALE: 6" = 1"

J, & -
“b50, ONAL &
12533553008

#10 x 1” HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

wattdE08an,

£ 0R1 9.
*ecesent

BACKER ROD
AND SEALANT

* 3
»9 @,
NG s
3

SRS
N

\\\‘e“@
oS

2 1/4"
MIN.

|

1/2"

Elﬁ—nﬁ
DN

F2 ALUM Ik

N
\PLASTIC SHIM SPACE

l<— 6” X 16 GA.

5/8” — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ 8” x 1 5/8” BUILDEX

SCREWS @ 16" 0.C.

M2 ALUMINUM
EXTRUSION

#12 x 1 1/2” HWH TEK SCREW
16” 0.C. (FASTEN TO STUDS)

(AS REQUIRED)

—_—
/ GALV. STEEL STUD
16” 0.C.
EXTRUSION %
W SCALE: 6” = 1’
Digitally signed
by Robert J
PTC PRODUCT DESIGN GROUP, LLC
= _=—
Amoruso Y o 7 =ittt
Date: 2023.07.11 e el mo@piccomoom
08:52:09 -04'00" Kistler McDougall
DNENSOISATE N NCHES e MITSUBISHI CHEMICAL AMERICA
FRACTIONS I‘JEC\MALS ANGLES ALPOLIC DIVISION
Robert J. Amoruso, P.E. t o132 iix: 3215 R APPROVALS DATE
FL P.E. No. 49752 e — a— ALPOLIC and ALPOLIC/r
S e ARl o T Y g 4y ALPOLIC s —— COMPOSITE WALL PANEL SYSTEMS
6 |RJA4/24/1 \TE TO CURRENT EDITIDN OF THE FBC FINISH
5 [RJA /10/12 0T PROJ MGMT SIZE | CAGE CODE DWG NO. MPCAQO0 REV
4 | TH [1/09/12] PRODUCTION 8
REV. | BY DATE CHANGE DO NOT SCALE DRAWING SCALE SHOWNl |SHEET 4 OF 11




6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

B

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

#12 x 1. 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8” 9-12 BUILDEX SCREWS O.C.

13—

AN

|
N

o A2 ALUMINUM X
EXTRUSION 2 MI1N/4
| —[}_ .
—Er- |
S|
Zam ¥

\ 4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

1/2"

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

#10 x 1" HWH TEK SCREW

DOW CORNING #795 SILICONE
16" 0.C. TYPICAL EACH PANEL

SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

@ DETAIL
5 SCALE: 6" = 1’

UL
\\\“ si\—%ﬁES "'I’
X AT N
S \CENG 0%,
S &%
o) e N P
ST No 49752 o032
=l T =
& 3 =
7’1'%". s
=3 s
%90
%, Q4
Gy

CENTERLINE OF

CENTERLINE OF 1"
METAL STUD

PANEL JOINT

B

6" x 16 GA.
GALV. STEEL STUD
16" 0.C.

— #12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS
/ REQUIRED

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8” 6-0 BUILDEX SCREWS 16" O.C.

NN NN
A | — |
qulz F2_ ALUMINUM
EXTRUSION
2 14 M2 ALUMINUM — /
MI. EXTRUSION I
=
i _El lf
+ ﬂ El' H-H 1-
|
v
—={1/2" |<—
10 x 17 HWH TEK SCREW —— DOW CORNING #795 SILICONE
16" 0.C. TYPICAL EACH PANEL SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)
Digitally signed
by Robert J ("5 DETALL
A @ SCALE: 6" = 1’ PTCPRODUngESIGNGROUP,LLC
MOoruso e LONGVSO(?D,)I(:I%%Z)?\ 32752
Fre | .
Date: 2023 .07‘ 1 1 Email: info@ptc-corp.com
Kistler McDougall

08:52:24 -04'00'

5&5@%&’555}?5%2@5&?“ CONTRACTRO MITSUBISHI CHEMICAL AMERICA
Robert . Amonso,PE. | S G 0 ALEOLE HER
FL PE. No. 49752 e e ALPOLIC and ALPOLIC/fr
§ IRATwoE B ] JamArolon feewee—t—— COMPOSITE WALL PANEL SYSTEMS
6 JA 4/24/“ T T e ST v e FSH PROJ MGMT SIZE | CAGE CODE DWG NO. REV
5 [RJA [ 8/10/12 [ww m 200 mc MPCAQ001 3
R:/ .Ia-lv-l 1/::T/s1z m;ﬂ ——— DONOT SCALE DRAWING FROPHETON SCALE_SHOWN] [steer 5 OF 11




HS HR A2
1.600
1.500 250 1.080 i 1.500 i
.750 .750 I I
ilj SYM. \ .031 R.@
' , -938 688
C | D
.093 \FULL R.@
|y [e125 1.770
2.125
1.608 !
1.688
-063 X .125 R -
r I\ -
f LI | LI xruu R®
.080 | .250 BREAK CORNERS .010 R
.100 WALL THICK TYPICAL
BREAK CORNERS .015 R BREAK CORNERS .015 R
ACTUAL SIZE
EXCEPT AS NOTED .090 TYPICAL METAL THICKNESS
DIE DATA
ACTUAL SIZE "
ACTUAL SIZE EST. AREA: .317 DIE SIZE: 6
EST. WEIGHT: .380 NO. HOLES: 1
EST. PERIL.: 6.54 EXT. LENGTH:
FACTOR: 17 R/R: 51/8 =1 @ 5%
iy,
DIE_DATA S RMES g, - -
DIE DATA EST. AREA: .465 DIE SIZE: 6 S, Digitally signed by
Eg @RE%I;T-“;G E'OE ?—II(Z)EI:ESG 1 EST. WEIGHT: .558 NO. HOLES: 1 g5 e 72 w9z Robert J AMoruso
. N . . EST. PERI.: EXT. LENGTH: 5 1/8 = 1 @ 36’ = ‘: : PTG PRODUCT DESIGN GROUP, LLC
EST. PERL: EXT. LENGTH: 5 1/8” = 1 @ 35’ FACTOR: R/R / 235 VoM i Date: 2023.07.11 T a i
. . ':;;4:'._. ¢ POES S Phone: 321 650-1758.Fax. 321.690.1760
FACTOR' R/R' ')’;;:}Sﬁ.s:,a?:?‘}:\‘_—?gié(%:“w 08:52:36 —O4|OO' Email: info@ptc-corp.com
RO Kistler McDougall
DNENSINS ARE N INCHES CONTRACTHO MITSUBISHI CHEMICAL AMERICA
Robert J.Amoruso, P.E. TOF;?;T(?;SSAREDEC\MALS ANGLES ALPOLIC DIVISION
FL P.E. No. 49752 32 i;(x: 8(1]5 £ APPROVALS DATE
8 [RIAI6/13/23| Mie, CHANGE 1o MITSUBISHI CHENICAL AMERICA~ e DRAWN ALPOLIC and ALPOLIC/fr
7RI/ S “amAPOLCH e ———{ COMPOSITE WALL PANEL SYSTEMS
2 QTJHA 16//;:;]]:: :1::':8: ::l: ::;)DJUI\/:::\:; SIZE | CAGE CODE DWG NO. MPCAOO RBE\/
Rev. | By | oate [cmnce DO NOT SCALE DRAWING SCALE_SHOWN| [sieer 6 OF 11




1.500
2.438
.562 |.188 .750
.063 .688 .250 .250
094 R .063 .188
.063
— '.063 _\, ! ]_ 063 180 090
. 062 R.
I — _\>/ \ - _ ’
.030 R | ~030 R .031 R | | f
063 FULL | | I .314
=22 214 ! I 1 :
.094 R | — (\ | | A
1.440% 112 D
CRITICAL 1.377 04
A . |
. 078 R. — 90° X .006
(;R;I?AL 1.377 [ 093 R. GROOVE
+ CRITICAL .031 R. 6 PLACES 1.176
| |25
.6875 .6875 |
.125 .750 375 .500
ACTUAL SIZE
ACTUAL SIZE
BREAK SHARP_CORNERS. 005 R.
BREAK SHARP CORNERS. 010R.
DIE DATA
EST. AREA: .484 DIE SIZE: 6
EST. WEIGHT: .581 NO. HOLES: 1
EST. PERIL.: 9.900 EXT. LENGTH: 5 1/8 = 1@34’
FACTOR: 17 R/R
DIE DATA
EST. AREA: .275 DIE SIZE: 6 RRTTLIITIN . . .
W IRMES 4%,
EST. WEIGHT: .330 NO. HOLES: Sy, Digitally signed by
EST. PERI.: 5.831 EXT. LENGTH.”4 1/2 = 1— 46 :q No 49752 0% Robert J Amoruso PTC PRODUCT DESIGN GROUP, LLG
FACTOR: 18 R/R: 5 1/8 = 1- 62 E_a: \ s = = LONGV\F/’goBLSifg%;EAszsz
Lh e o S Date: 2023.07.11 08:52:49 |~ &= .. . 00 5 0o
1”?‘(‘::5;::[ OR\ -6‘ . . Email: info@ptc-corp.com
ey S70n ', }}\L e\‘\"\‘\‘ -
ROTHET 04'00 Kistler McDougall
DNENSINS ARE N INCHES CONTRACTHO MITSUBISHI CHEMICAL AMERICA
Robert J. Amoruso, P.E. TOFLRi?;Toc;sSAREDEC\MALS ANGLES ALPOLIC DIVISION
FL P.E. No. 49752 e ;ix: :8:]5 e APPROVALS DATE
8 |IRJA 6/13/23|M NITSUBISHI CHEMICAL AMERICA, MATEW;‘ & B ALPOLIC DRAWN ALPOLIC and ALPOLIC/fr
7 IRJA 4/14/17 | caenstres meriga o Coren & 4MM ALPOLIC/T —— COMPOSITE WALL PANEL SYSTEMS
6 |RJA|4/24/14|wprate 10 current EprTIoN oOF THE FBC IV MS 11/11/02
5 [RJA|6/10/12 |wsate 10 200 F3c PROJ MGMT SIZE | CAGE CODE DWG NO. REV
4 | TH [1/09/12 |iarsupistn cHetcac SROBUCTION MPCAODO! 8
Rev. | v | oate [cnmnce DO NOT SCALE DRAWING SCALE_SHOWN| [sieer 7 OF 11




150 1/2"

FRAME OUTSIDE DIMENSION
11/2" 14-9 1/2" 11/2"
FRAME INSIDE DIMENSION
2’_8" 12’
1/2 PANEL DIMENSION 1/2 PANEL DIMENSION 1/2"
“
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 9
I I I I [ I [ [ [ [ I I 1 I
I ||\| I I I I | | | | I I | | |
I I I I I I | | | | I I | | !
Al Iy o B X X B X X X X I
N — | | | STIFFENER— || N N || I I N N I !
> N /II ! I I I I | | | | I I | | !
I R I I I I | | | | I I | | |
— - -lt+—--—F -4 - —H4--— - —F - —— - —— - —f4—— - — - p— - —— - f— - —— - - —— -~ - —— - —|- - —H
] R ~ LT T
z 5 . I R I (2N I | | | | I I | | !
3 =. | 5% I B N 1 \9/ 11 N I I I I | | |
= o ¥l F . | | | STIFFENER — | | | I | I I I I | | I |
R EZ = - | N /II | || | N || | | | | | |
N B | = I R I I I I | | | | I I | | !
Slw |2 - Y 2 1 | Y A N I O ) N S AP I MO |
= S o e sy B s D B e A R
rl 2 | I
Tlo P|lw = | I I | I I | I I I I I I |
°|3 *|2 o el R | | | | | 1.
= =
R P ES T e I | i i i i D
= N | — |
& = | > NEZN N9 I I I I | | | | I I | | N
i I R I I I I | | | | I I | | Il | oPPOSITE
| |1 |1 | |1 |1 | |1 |1 |1 |1 |1 |1 |
- 0 o B B B B i i B B o
g2 ||l | A S 2 | B I L
: !
T Z& R | I I I I | | | | I I | | !
—| a= I R I I I I | | | | I I | | |
a I R I I I I | | | | I I | | |
L |N R I I I I | | | | I I | | !
I A I — L L L L L] L] L L L] !
\ /
= \/ i o
- & iV e,
N < 26 ~ 16 A METAL STUDS OPPOSITE S, Digitally signed by
— L. §£’:,-' No 497 ".‘:ﬁs?:‘
— el N g i'g RObert -J Amoruso PTC PRODUCT DESIGN GROUP, LLC
- . 4 : = PO BOX 520775
=70 s . e ey ————
22 Vetie or LS Date: 2023.07.11 & ooon
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING et omataSs = TAAT Pone 21440178 o 21807
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED g/ ONAL B 08:53:04 -04'00 g
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. e SAF METAL FABRICATION
e MITSUBISHI CHEMICAL AMERICA
| FRACTIONS .DECIMALS ANGLES ALPOLIC DIVISION
PANEL ELEVATION Robert J. Amonuso, PE. A T pa——
— FL P.E. No. 49752 NP L ALPOLIC and ALPOLIC/fr
— RAVE
3/4"=1'-0 § TRAT 75 (e PR o oo Ry o ———1 COMPOSITE WALL PANEL SYSTEMS
6 RIA 4/24/14 UPATE TR CORRENT EDTION oF T P PROJ MGMT SIZE | CAGE CODE DWG NO REV
5 | RJA | 6/10/12 | wwem m0 B MPCA0001 8
Rg-\/ .Ev-l Vno:T/Ew .c.:::(sm“mm DONOT SCALE DRAWING ropHeTN SCALE SHOWN [seer 8 OF 11




#12 X 1 1/2° HWH WOOD SCREW
@16” 0.C. TO MAN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

ATTACH EACH STUD TO TRACK
W/ 12 x 1 1/2" HWH
ITW BUILDEX TEK' SCREWS

WO (2) EA. SIDE
6 .
12 ) .E!‘;‘.'ﬂ.) ['ey \
—1}—% ! i - YD gttt |

16" 0.C. TYPICAL EACH PANEL

4MM OR 6MM ALPOLIC
OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

385008
STIFFENER

w
/?ol
#10 X 17 HWH TEK SCREW e
A

A

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

37893 TEE
ALUM. EXTRUSION
SHOP ATTACHED

14 TO PANEL (TYP.)

MIN.

l—— 6" X 16 GA. =
GALV. STEEL STUD

16" OC.
717\ DETAIL
\9/ SCALE: 6” = 1°

5/8" — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ #8" x 1 5/8”" BUILDEX

SCREWS @ 16" 0.C.

ATTACH STIFFENER TO PERIMETER /

EXTRUSIONS ON EACH END WITH
#10 x 17 HWH TEK SCREW

DOW—CORNING *1199 /

SILICONE SEALANT

38499A /

RETAINER

1 #12 x 1 1/2" HWH TEK SPACE

16" 0.C. (FASTEN TO STUDS)

| PLASTIC SHIM SPACE
(AS REQUIRED)

6" X 16 GA.
[<—— GALV. STEEL STUD

AN

— 2" —————

la—— 2 1/4" MIN. ——

16" 0.C.
/" 2"\ STIFFENER

DETAIL

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

5/8" — (5 PLY) PLYWOOD FASTENED
37899 MALE / TO STUDS
ALUM. EXTRUSION 1/4 / W/ 8" x 1 5/8" BUILDEX
SHOP ATTACHED MIN. =] SCREWS @ 16” O.C.

TO PANEL (TYP.)

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

W SCALE: 6" = 1’

\ #12 x 1 1/2" HWH TEK SCREW

16" 0.C. (FASTEN TO STUDS)

\ PLASTIC SHIM SPACE

A\VAINN

(AS REQUIRED)
BACKER ROD
AND SEALANT
l—————— 6" X 16 GA. —_—
GALV. STEEL STUD
/ 16” 0.
37894 FEMALE /
ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)
. e . SCALE: 6" = 1’
B3E88gp @/
o SXw““"“”' Digitally signed
PO AR },
SECENs %, by Robert J
27 No aors2 ﬁé
oo » 497 %
=g H M b A moruso PTC PRODUCT DESIGN GROUP, LLC
Zai ' : e ———— oK ST
e . - LONGWOOD, FLORIDA 32752
=P Ve ﬂeﬁ,OF/.:L'J Date Y o £ = FBPE C.A.NO. 25935
z, i?‘:\'. <, S Phone: 321.690.1788,Fax: 321.690.1789
%/\\ b LoRy t:‘ % 2023 07 ‘I ‘I Email: info@ptc-corp.com
J,‘vo."-u.--- . €
"lg;\, ‘}“\;f‘—‘ 08:53:18 04,00, SAF METAL FABRICATION
P . . - e
M DNENSONS ARE N NCHES coneTe MITSUBISHI CHEMICAL AMERICA
FRACTIONS IE)ECIMALS ANGLES ALPOLIC DIVISION
Robert J. Amoruso, P.E. EE OV APPROVALS DATE
FLP.E. No. 49752 T T— SR ALPOLIC and ALPOLIC/fr
e 4NV & 6MM ALPOLIC
e R o o L poLici e o s | COMPOSITE WALL PANEL SYSTEMS
St
g ;ﬁ ;;f;;:; :::':m"m s PROJ MGMT SIZE | CAGE CODE DWG NO. MPCACO0 F;E\/
4 [ TH [ 1/08/72 el
Rev | sY | oaE | cranee DO NOT SCALE DRAWING T SCALE_SHOWN] [sHeer 9 OF 11




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

6" X 16 GA.
GALV. STEEL STUD

16" 0.C.

B

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8 9-12 BUILDEX SCREWS 0.C.

Z3—

V\\\\

LJ_iJ

37893 TEE

ALUM. EXTRUSION 2
SHOP ATTACHED

TO PANEL (TYP.)

MIN.

1/4

ot |

<p—

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

\ 4MM OR 6MM ALPOLIC

1/2"

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

#10 x 17 HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

/ 4\ DETAIL
w SCALE: 6" = 1’

CENTERLINE OF
METAL STUD

——1

——

CENTERLINE OF
PANEL JOINT

6” x 16 GA.
GALV. STEEL STUD
16" 0.C.

B

— #12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS

SHIM AS W/ 8" x 1 5/8" 6-0 BUILDEX SCREWS 16” 0.C.
REQUIRED
|
“EI::D‘ 37894 FEMALE
— ALUM. EXTRUSION
2 14 37899 MALE SHOP ATTACHED
MIN. ALUM. EXTRUSION L i TO PANEL (TYP.)
SHOP ATTACHED N
TO PANEL (TYP.) —ot#f +','E E: H— .
== i
Q/"\\# 'f
1/2" — f—
10 x 17 HWH TEK SCREW —— DOW CORNING #795 SILICONE
16" 0.C. TYPICAL EACH PANEL SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)
" ;ua;mu,,
\‘ %ﬂﬁb . . o
A {":..._.,.4 Digitally signed
43 “'Qk \WGE 0,9'%
é’. 3] O \1 8 . '/-? " /‘\
Sa o sorsa w2 DY Robert ) O ) DETAIL
- s % = w SCALE: 6" = 1’ PTC PRODUCT DESIGN GROUP, LLC
=~ W2 - PO BOX 520775
Tt - Am oruso DAY | )GWOOD, FLORIDA 32752
oMLY - V ol 4 L FBPE C.A. NO. 25935
':"ﬁ o = Phone: 321.690.1788,Fax: 321.690.1789
"';’,i?'::_ A, - .g‘,é? Date: 2023.07.1 1 Email:info@pvtc-corp.com
% &l np DRI
2o R\ oS FaYa SAF METAL FABRICATION
""t S ’Ox\, 1L€$\“‘ 08.53 ~3O '04 OO S OTERTSE SRS SRR,
01359358008 IENSONS AR N HES MITSUBISHI CHEMICAL AMERICA
FRACTIONS E)ECIMALS ANGLES ALPOLIC DIVISION

Robert J. Amoruso, P.E.

FL P.E. No. 49752

6/13/23 [\Faic mevisew

4/14/17 |we owez 1 isieme coRA cOPEITE: WEREA
4/24/14 [P T OROT BN T T

6/10/12 [P a0

TH | 1/09/12 | Voo RS GRbsics we s G

BY DATE

@ [+ |en|on[~|oo)
<
=

CHANGE

o

1132 XXt 01 R
XX+ 005 APPROVALS DATE
MATERIAL DRAWN ALPOLIC and ALPOLIC/fr
4MM & MM ALPOLIC
& 4MM ALPOLIC/fr ENGNEERING COMPOSITE WALL PANEL SYSTEMS
FINISH MS 11/11/02
PROJ MGMT SIZE | CAGE CODE DWG NO. REV
MPCA0001 8
PRODUCTION
[sieer 10 OF 11

DO NOT SCALE DRAWING

SCALE_ SHOWN]




1.001"
243" —

L ——

LY
T 734"

17 i:7£:_

ACM TERMINATOR

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37893
Area = .265

Wt./Ft. = .318

Perim. = 5.483

Circle Size = 0-3

078, ly = .011
.070, Sy = .018
Cgy = 1.116, Cgx = .628

1.687"

—]  1.935” ‘<—

¢.997”—+*———4
388" [L___J—

1.688” 1 f
, 1.024"
712

125" —|}— 1 f
ACM FEMALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37894

Area = .499
Wt./Ft. = .599
Perim. = 9.154
Circle Size = 0-3

Ix = .100, ly = .161
Sx = .086, Sy = .120
Cgy = 1.160, Cgx = 1.348

831"
o |
"593” 1 l 1.472" ”
.6?3” | l
—| 1.552" |—

RETAINER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—38499A
Area = .4610
Wt./Ft. = .542
Perim. = 9.4387
Circle Size = 0-3
Ix 095, ly = .1262
= 117

9147
.688"

r—.189” |
f.o78”ﬂ E[:: f
735"

1.288"

#
f—»»|——.125”

ACM MALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37899

Area = .234

Wt./Ft. = .281

Perim. = 4.646

Circle Size = 0-3

Ix = .039, ly = .012

Sx = .048, Sy = .019
Cgy = .819, Cgx = .633

——‘ 1.5” r—

062"
188" o 1.25
1 _qj»‘1 25" ‘<%
1.75"
PANEL STIFFENER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—385008B

Area = .325

Wt./Ft. = .390

Perim. = 9.749

Circle Size = 0-3

[x .081, ly = .049

Sx .120, Sy = .056
Cqgy = .676, Cgx = .886

Digitally
e signed by
\\\\ 3{- s:b 4 '/,
S “#27, Robert )
RS \CE” 7 ,9 A
S L7
& Q";' No 49752 5% A
- ;.= AMOruso
= s R =
EEH = PTC PRODUCT DESIGN GROUP, LLC
-;':D)'-_ afate 55 Date PO BOX 520775
20 - Sws =S EERESSST | o\GWOOD, FLORIDA 32752
XN ) V‘ B V o 4 - FBPE C.A. NO. 25035
%':Q«*, "'25-\""@6‘\\‘“‘ 2023 07 1 1 Phone: 321.690.1788,Fax: 321.690.1789
(7 ',;” .' O ] :}‘\_E‘,\“\\\ Email: info@pte-corp.com
LTI . .
0853 42 SAF METAL FABRICATION
_O 4'00' EE%EE%@EE}&?F@EEE?ED CONTRACTRC. MITSUBISHI CHEMICAL AMERICA
FRACTIONS DECIMALS ANGLES ALPOLIC DIVISION
132 XXt 01 TR
XXXt 005 APPROVALS DATE
Robert J. Amoruso, P.E. S ALPOLIC and ALPOLIC/fr
FL P.E. No. 49752 4MM & 6MM ALPOLIC
il 41V ALPOLIGHT e COMPOSITE WALL PANEL SYSTEMS
8 [RIATS/ ALPGLIE DIVISIN e MS 11/11/02
g ;jﬁ z;z:z m mm e — PROJ MGMT SIZE [ CAGE CODE DWG NO. WPCALDO REV
5 1RUA [ 6/10/12 Juee w2 e mer em wm e = DO NOT SCALE DRAWING PRODUCTION 8
REV. | BY DATE | CHANGE SCALE SHOWNl |SHEET 11 OF 11




		2023-07-11T08:51:21-0400
	Robert J Amoruso


		2023-07-11T08:51:41-0400
	Robert J Amoruso


		2023-07-11T08:51:56-0400
	Robert J Amoruso


		2023-07-11T08:52:09-0400
	Robert J Amoruso


		2023-07-11T08:52:24-0400
	Robert J Amoruso


		2023-07-11T08:52:36-0400
	Robert J Amoruso


		2023-07-11T08:52:49-0400
	Robert J Amoruso


		2023-07-11T08:53:04-0400
	Robert J Amoruso


		2023-07-11T08:53:18-0400
	Robert J Amoruso


		2023-07-11T08:53:30-0400
	Robert J Amoruso


		2023-07-11T08:53:42-0400
	Robert J Amoruso




